Oata 201 n/n Ne kab. 21clp Ne kab. 22 clp Ne kab. 23 clp Ne kab.
1 1 1 |TOMY(yn)[1] / TOMY(yn)[2] 401 /1066 1
£]2 2 2 |TOMY(yn)[1]/ TOMY(yn)[2] 401 /1066 2
S é 3 [N.HeBp.np.(n3)[1] 109 3 3 [TOMY(n3)[1]/ TOMY(yn)[3] 202 /401 3
B’_ &1 4 |N.Hesp.np.(n3)[1] / Nley.Tep.np(n3)[2] (109 /201 4 4 |TOMY(n3)[1]/ TOMY(yn)[3] 202 / 401 4
N % 5 [Jl.ncux.np.(n) 109 5 5 |Kn yac(K4) 106 5
E | 6 |N.ncux.np.(n) 109 6 6 |3p.4en.(k)[1] 2046 6
7 7 7 7
1 |Ney.tep.np(n3)[1] / Nley.cpTna.(n3)[2] |201 /108 1 1 |TOMY(n3)[1]/ AH.1 ¢pun3.u(n3)[2] 202 /302 1
2 |Neu.tep.np(n3)[1]/ Nleu.cotn3.(n3)[2] (201 /108 2 2 |TOMY(n3)[1]/ OcH.naton.(n3)[2] 202 /302 2
S £ [ 3 [duskyn.(na) Cnopt3an 3 3 |WH.a3.(n3)[1] / TOMY(yn)[3] 101 /401 3
3 §- 4 4 4 |/ TOMY(yn)[3] /401 4
Q &[5 5 5 [TOMY(K)[2] 1066 5
6 6 6 6
7 7 7 7
1 |Ney.tep.np(n3)[1] 201 1 1 |TOMY(n3)[1]/ 3a.4en.(n3)[2] 202/ 2046 1
2 |Ney.tep.np(n3)[1] 201 2 2 |TOMY(n3)[1]/ 3a.yen.(n3)[2] 202 / 2046 2
d o [ 3 [Meu.tep.np(n) 201 3 3 [TOMY(yn)[1]/ TOMY(yn)[2] 401 /307 3
b § 4 |WH.83.(n3)[1] / VH.83.(n3)[2] 1017102 4 4 |TOMY(yn)[1]/ TOMY(yn)[2] 401 /307 4
J ° [ 5 [Knuac(K4) 304 5 5 [/ TOMY(x)[3] /401 5
6 6 6 [TOMY(k)[1] 401 6
7 7 7 7
1 |Ney.tep.np(n3)[2] 201 1 1 |TOMY(yn)[1]/ TOMY(yn)[2] 401 /307 1
2 |O.na6.guar(n3)[1]/ Nleu.tep.np(n3)[2] (307 /201 2 2 |TOMY(yn)[1]/ TOMY(yn)[2] 401/108 2
S & | 3 [Neu.tep.np(n) 201 3 3 |WH.a3.(n3)[1]/ TOMY(yn)[3] 101 /401 3
3 % 4 |0.na6.guar(n3)[1] 307 4 4 |/ TOMY(yn)[3] /401 4
Q 2[5 5 5 [3a.4en.(0[2] 2046 5
6 6 6 6
7 7 7 7
1 |Met.coyHk.A(n3)[2] 304 1 1 |/ TOMY(yn)[3] /202 1
2 |Mert.coyHk.A(n) 304 2 2 |3p.4yen.(n3)[1]/ TOMY(yn)[3] 2046 / 202 2
§_ S [ 3 [nev.tep.np(n) 201 3 3 |TOMY(yn)[1] / Nndp.TexH(n3)[2] 401 /402 3
b E 4 |WH.a3.(n3)[2] 102 4 4 |TOMY(yn)[1] / NHdb.TexH(n3)[2] 401 /402 4
& E[5 5 5 5
6 6 6 6
7 7 7 7
1 |Ney.tep.np(n3)[2] 201 1 1 |TOMY(yn)[1] / AH.n dm3.4(n3)[2] 401 /302 1
2 |Ney.tep.np(n3)[2] 201 2 2 |TOMY(yn)[1] / OcH.naton.(n3)[2] 401 /302 2
J g 3 |®u3s.kyn.(n3) Cnopt3an 3 3 |TOMY(yn)[2] 1066 3
3 S|4 4 4 |TOMY(yn)[2] 1066 4
& &[5 5 5 5
6 6 6 6
7 7 7 7




202 n/n, Ne kab.

1

2

3 |Neu.tep.np(k) 201

4 |O.Hay4.mc.(n) 303

5 |N.rep.np(n) 201

6 |Pu3.kyn.(n3) Cnopt3an
7

1

2 |WH.a3.(n3)[1] 101

3 |A.zet.mHd.(n3)[1]/ Ney.Tep.np(n3)[2] |109 /201
4 |0.per.nHd.(n3)[1]/ Nleuw.tep.np(n3)[2] (109 /201
5 |Awuar. nudp(yn)[2] 106

6 |Owuar. nHdp(yn)[2] 106

7

1 |N.HeBp.np.(n3)[2] 106

2 |A.6on.rp.e(yn)[1]/ N.HeBp.np.(n3)[2] |109/ 106
3 |O.6on.rp.B(yn)[1] / NH.53.(n3)[2] 109 /102
4 |O.petmHd.(n3)[2] 109

5

6

7

1 |N.HeBp.np.(n3)[1] / O.6on.rp.B(yn)[2] |202 /206
2 |N.HeBp.np.(n3)[1] / O.6on.rp.(yn)[2] |202 /206
3 |A.zet.mHd.(yn)[1] / MeT.doyHK.A(N3)[2] |206 / 304
4 |O.pet.mHd.(yn)[1] 206

5

6

7

1 |Ney.tep.np(n3)[1] / NN.HeBp.np.(n3)[2] (201 /106
2 |Neu.tep.np(n3)[1] / Nl.HeBp.np.(n3)[2] |201 /106
3 |Kn yac(K4) 307

4

5

6

7

1 |[N.HeBp.np.(n3)[1] 106

2 |N.HeBp.np.(n3)[1] 106

3 |N.ncux.np.(n) 106

4 |N.ncux.np.(n) 106

5

6

7




1 1 |®un3.kyn.(n3) CnopT3an 1 |[TOMY(yn)[1]/ TOMY(yn)[2] 401/ 1066 1
£]2 2 |AH.1 cbns.u(n) 302 2 |TOMY(yn)[1]/ TOMY(yn)[2] 401 /1066 2
§_ é 3 [Jleu.tep.np(n) 201 3 |Mvrm ak.u(n) 206 3 |AH.1 cpuz.u(n3)[1] / TOMY(yn)[3] 302 /401 3 |AH.n dus.u(n) 404
b &1 4 |Nev.tep.np(n) 201 4 [Mvrm ak.u(n) 206 4 |OcH.naton.(n3)[1] / TOMY(yn)[3] 302 /401 4 |dus.kyn.(n3) Cnopt3an
b % 5 [Jl.ncux.np.(n) 106 5 5 5 |Mvrm ak.u(n) 206
E | 6 |N.ncux.np.(n) 106 6 6 6
7 7 7 7
1 |WH.a3.(k)[1] 101 1 [Pus.kyn.(n3) Cnopt3an 1 |TOMY(yn)[1] / AH.n dmn3.4(n3)[2] 401 /302 1
2 |WH.a3.(n3)[1] 101 2 |Mvrm ak.u(n) 206 2 |TOMY(yn)[1] / OcH.naton.(n3)[2] 401 /302 2
J % 3 |N.HeBp.np.(n) 109 3 |vrm ak.u(n) 206 3 |TOMY(yn)[2] / TOMY(yn)[3] 1066 / 401 3 |OcH.naton.(n) 302
g_ 2| 4 |N.HeBp.np.(1) 109 4 |AH.1 dun3.u(n) 302 4 |TOMY(yn)[2] / TOMY(yn)[3] 1066 / 401 4 |®un3.kyn.(n3) CnopTt3an
S &B[5 5 5 5
6 6 6 6
7 7 7 7
1 1 1 1
2 2 2 2
d o3 3 3 3
8 32 2 2 2
S °[5 5 5 5
6 6 6 6
7 7 7 7
1 |Ney.Tep.np(n) 201 1 |OcH.naton.(n) 302 1 |TOMY(yn)[1]/ TOMY(yn)[2] 401 /1066 1 |AH.1 duz.u(n) 404
2 |N.HeBp.np.(n) 109 2 |OcH.mukpo6(n) 404 2 |TOMY(yn)[1]/ TOMY(yn)[2] 401/ 1066 2 |OcH.naton.(m) 302
J '05). 3 |N.HeBp.np.(n) 109 3 |WH.93.(n3)[1]/ Tur.m ak.u(n3)[2] 101 /206 3 |TOMY(n3)[1]/ 3p.4en.(n3)[2] 108 / 2046 3 |OcH.naton.(n3) 302
”8_ @4 4 4 |TOMY(n3)[1]/ 3a.4en.(n3)[2] 108 / 2046 4 |Tvr.m ak.u(n) 206
8 2[5 5 |urm ak.u(k) 206 5 |TOMY(k)[1] 108 5
6 6 6 6
7 7 7 7
1 [Mert.coyHk.a(n3)[1] / Ney.tep.np(n3)[2] (304 /201 1 |AH.1 Pun3.u(n) 302 1 |3g.yen.(n3)[1] / TOMY(yn)[3] 2046 / 401 1 |®un3.kyn.(n3) CnopT3an
2 |Mert.coyHk.A(n3)[1] / Neu.tep.np(n3)[2] |304 /201 2 |®u3s.kyn.(n3) Cnopt3an 2 |3p.4yen.(n3)[1] / TOMY(yn)[3] 2046/ 401 2 |OcH.naton.(n3) 302
§_ S [ 3 [nev.tep.np(n) 201 3 |MHd.TexH(n3)[1] / AH.m dmna.u(n3)[2] |402 / 302 3 |TOMY(yn)[1]/ TOMY(yn)[2] 401/ 1066 3 |Mvrm ak.u(n) 206
8 E 4 |Ney.Tep.np(n) 201 4 [WHd.TexH(n3)[1] 402 4 |TOMY(ynm)[1]/ TOMY(yn)[2] 401/ 1066 4 [Mvrum ak.u(n) 206
8 Z [ 5 [Knuac(K4) 304 5 |Kn yac(K4) 303 5 [TOMY(x)[2] 1066 5 |Kn yac(K4) 401
6 6 6 6
7 7 7 7
1 |Met.cpyHk.A(n3)[1] / Neu.Tep.np(n3)[2] |304 /201 1 |AH.M pua.u(n3)[1]/ Turm aku(n3)[2]  |302 /206 1 |TOMY(yn)[2] / TOMY(yn)[3] 1066 / 401 1 [WH.53.(n3) 102
2 |Mert.coyHk.a(n3)[1] / Ney.tep.np(n3)[2] (304 /201 2 |Mvrm aky(n3)[1] / AH.n dus.u(n3)[2] 206 / 302 2 |TOMY(yn)[2] / TOMY(yn)[3] 1066 / 401 2 |WH.a3.(n3) 102
J g 3 |N.HeBp.np.(n) 109 3 |OcH.mukpob(n) 404 3 |3a.4en.(n3)[1]/ TOMY(yn)[3] 2046 / 401 3 |vrm ak.u(n) 206
”8_ 8 | 4 |/1.Hesp.np.(n) 109 4 |OcH.mukpo6(n3)[2] 404 4 |3g.yen.(n3)[1] / TOMY(yn)[3] 2046 / 401 4 |®un3.kyn.(n3) CnopT3an
3 &[5 5 5 5
6 6 6 6
7 7 7 7




1 |N.HeBp.np.(n3)[1] / Jleu.Tep.np(n3)[2] (104 /201
2 |N.HeBp.np.(n3)[1]/ Ney.Tep.np(n3)[2] |104 /201
3 |®us.kyn.(n3) CnopTt3an
4 [WH.53.(n3)[1] 101

5

6

7

1 |Ned.tep.np(n3)[1] / N.HeBp.np.(n3)[2] |201 /109
2 |Neu.tep.np(n3)[1]/ N.HeBp.np.(n3)[2] |201 /109
3 |WH.a3.(n3)[1]/ Ney.Tep.np(n3)[2] 101/201
4 |Ney.tep.np(n3)[2] 201

5

6

7

1

2

3

4

5

6

7

1

2 |Mert.coyHk.4(n3)[2] 304

3 |0.nab6.anar(n3)[1]/ Ney.tep.np(n3)[2] |104 /201
4 |0.nab.avar(n3)[1] / Neu.tep.np(n3)[2] (104 /201
5 |N.ncux.np.(n3)[1] 106

6 |.ncux.np.(n3)[1] 106

7

1 |N.ncux.np.(n3)[1] / Jl.HeBp.np.(n3)[2] [106/ 109
2 |N.ncux.np.(n3)[1]/ N.HeBp.np.(n3)[2] |106 /109
3 |O.nab.guar(n3)[1] 104

4 |O.na6.anar(n3)[2] 104

5 |Kn yac(K4) 106

6

7

1 |N.weBp.np.(n3)[1] / Nl.ncux.np.(n3)[2] |109 /106
2 |N.HeBp.np.(n3)[1] / N.ncux.np.(n3)[2] |109/ 106
3 |N.ncux.np.(n3)[1]/ NH.53.(n3)[2] 106 /102
4 |N.ncux.np.(n3)[1] / NH.a3.(n3)[2] 106 /102
5

6

7




